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Deduction is a logical process of
moving from particular statement to general statement.
sticking to particular statement.
moving from general statement to particular statement.

sticking to general statement.
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Induction strategy begins with

collection of data.

formation of hypothesis that provides a possible answer to a phenomenon |
research problem.

laying the concepts and meaning that are contained in social account of ac
in a research problem.

formulation of a hypothetical model of a mechanism that could explain the ¢
phenomenon under investigation.
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Question Number : 2 Question Id : 9286274889 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0
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Quantitative variables are the variables that can

—  beassignedvaluesthatarecountable—————
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assume infinite number of values between any two specific values.

92862718810.
be placed into distinct categories based on some characteristics.
be values that can be measured.
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Correct Marks : 1 Wrong Marks : 0

Logical fallacy involves a statement
which is true of the part is also made true of the whole.
where the truth is sought to be asserted by referring to an authority.
showing 'A' is similar to 'B' therefore whatever is true of 'A’ is also true of 'B

if 'A' is true, then 'B' is true. 'B' is true therefore, 'A' is true.
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A theory is
an assumption.
an 'if-then’ proposition.
a hypothesis.

a hypothesis that has been successfully tested.
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Options :

U Hirddl
92862718817.
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The respondent's response over the statement that 'l always live in the present and do
worry about the future' can be measured by

nominal scale.
ordinal scale.

interval scale.

ratino scale
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Question Number : 6 Question Id : 9286274893 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0
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Research aiming to find a solution for a problem facing society or industry is termed as

theoretical research.
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applied research.
92862718826.

descriptive research.

explanatory research.
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A qualitative research is characterized by the following attributes :

A belief in single reality, identification of universal laws, interdependence b
knower and the known.

A belief in multiple realities, identification of universal laws, interdependenc
knower and the known.

Role of context in research, a belief in multiple realities, interdependence b
knower and the known.

A belief in single reality, identification of universal laws, tendency to work w
representative sample.
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Research designis a
mathematical structure of an enquiry.
logistical structure of an enquiry.
statistical structure of an enquiry.

logical structure of an enguiry.
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Question Number : 9 Question Id : 9286274896 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0
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In quantitative research we use the following tools of data collection :

Open-ended questionnaires, documents, key informants
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Structured questionnaires, unstructured interviews, focus group discussion
92862718838.

Structured questionnaires, structured interviews, schedules

Structured questionnaires, structured interviews, focus group discussions
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The constituents of research methodology are

tools and techniques of data collection, methods of data analysis, steps inv
research.

tools and techniques of data collection, research design, research process.

theoretical perspectives guiding research, tools and techniques of data coll
methods of data analysis.

theoretical perspective guiding research, methods of data collection, sampl
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The value of the statistics 's” is

Estimator
Estimate
Error term

Mean

FTTF 's™ T A9 @1 2
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92862718845.

Errors in data collection due to inaccurate selection are covered under

sampling errors.
non-sampling errors.

mathematical errors.

theoretical errors.
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Question Number : 13 Question Id : 9286274900 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0
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When estimates are needed for sub-groups of a universe, the sampling method used t
collect data is

random sampling.

judgment sample.
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stratified sampling.
92862718855.

purposive sampling.
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Research design comprises the following components :
Sampling design, statistical design, mathematical design
Sampling design, statistical design, econometric design
Sampling design, mathematical design, theoretical design

Sampling design, statistical design, observational design

9T =LAl F {Heier g 926 gid @ :
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92862718860.

An idea about the reliability and precision of a sample is given by
sampling error.
non-sampling error.

standard error.

mathematical error.
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The combination of at least one quantitative and at least one qualitative component in
single research project is known as

mono-method research.
mixed methods research.
dual methods research.

multimethod research.
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Study of science as a knowledge seeking activity is concerned with
history of science.

sociology of science.

hilosophv.of scionce.
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92862718872, economics of science.
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A process of creating simplified representation of a system or phenomena with hypothe
to describe the system or phenomena is known as

theory
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hypothesis
92862718874,

law

modeling
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Correct Marks : 1 Wrong Marks : 0

Evaluation of competing theories on the basis of their relative degree of confirmation is
termed as

verification
falsification
confirmation

description

tatre giaeadt [Ziat 1 ITeht AT HiT T Tl F AT TT AT
FEATAT €
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The second derivative of the function y = 4/nh xis
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Logs 64 = 2 will be equivalent to the exponential form

64 = 8
64 = 4"
64 = 2°
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logg 64 = 2, & FTETHT =T & TAIA g ?

64

64 =1

64 = 8
64 = 4"
64 = 2°
64 =1
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The derivative (%) for the implicit function 3y — 12x + 17 = 0 will be
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92862718889.
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The second-order derivative of the function y = 7 +5x + 12, given x =2 is

90
91

92

FATy = 7x +5x_ + 12 5 BT Ffe sTaForst 77 x = 2 9% 79 20

90
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92

94

Using the quadratic formula, the solutions of the quadratic equation 5" +23x+12=0
be

-06,-4
06, 4
04,6

~0-4,-6
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~06,-4
06, 4
04, 6
~04,-6

A continuous function defined over a closed interval [A, B] will

assume all values between f(A) and f(B).

assume selected values between f(A) and f(B).
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be parallel to the vertical axis.
92862718903.

be a step function.

U T AT [A, B] I TGO AT Fer A
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A function is homotheticif it is a
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quadratic function.
92862718905.

linear function.

monotonic transformation of some homogenous function.

monotonic transformation of some non-homogenous function.

ol w2 |
e Ll
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Question Number : 28 Question Id : 9286274915 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A constant elasticity of substitution function means that its isoquants will
be convex upwards.

be linear.

have no flexibility.

have same elasticity at every point.

U T ITaeImoq @ A &7 3 g & soat aqatHr 7% g

U7 T AT ITAA
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92862718911.

gedeh feig U< T T

If we approximate a polynomial by its tangent then as we move away from the point of
tangency the gap between approximation and the graph of the polynomial tends to

decrease
increase
remain constant

become as large as value of the polynomial
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Consumer Price Index numbers in India are of this type
Laspeyres

Paasche
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Fixed-Weight Aggregative
92862718919.

Unweighted Average of Relatives

AT & ITHTHT T Hd THHH 20 THL H g

EL D)
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An economic time series can have these components
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Trend only
92862718921.
Seasonal fluctuations and trend only
Regular movements, seasonal fluctuations and trend
Irregular movements, seasonal fluctuations and trend
U= ATTHF FTA FE@AT & T T g1 T g

FA T
FAG ATOHT IFTAFAT AT vq

s aREay, 9T SgTEEe o ag
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Question Number : 32 Question Id : 9286274919 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following is nottrue in the analysis of time series data ?

Understand the historical features of data

Explain fluctuations in the data
Make comparisons over time

Understand cross-section data

FTA FAAT ATHET F T H 95 § 7 F47 g a1 g ?

AT & UfAgIea JOTEHT H T THA T

AFe § IFTAFT il ST F7 qTAT
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92862718927.

aeafa® ARl 1 a9 T

Analysis of a deterministic time series involving all the four components is best done in
order

Trend, cyclical, seasonal and irregular
Cyclical, seasonal, irregular and trend
Seasonal, irregular, trend and cyclical

Irregular, seasonal, cyclical and trend

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

T EITe® T @1 % AW gl o7 AT 30 F7F § 72T 9999

o, ey, s e S

afrf, Wy, T s

Rank of a matrix is
never less than its order.

never greater than its order.

oneless than the order of its largest minor
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equal to the order of its largest non-zero minor.
92862718936,

BRI ARSI
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a= fAemeaay {T-90=T g7 *l Flie & TH gram g |

The differential equation x = F(t, x) can take this form : x = f(t)g(x) when
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F(x) can be written as product of two functions f(t)g(x).
92862718937.

F(x) is separable.

Both "F(x) can be written as product of two functions f(t)g(x)" and "F(x) is s
correct.

Both "F(x) can be written as product of two functions f(t)g(x)" and "F(x) is s
incorrect.

FAHA THIFHT x = F(t, x) T2 x = f(t)g(x) FT FT 4TI FT THdT g q(2
F(x) T =T Fer=i, f(t) T2qT g(x) & TOFA & =T F forar S J6
F(x) T 27 |
ST, "F(x) &1 2T T, f(t) TAT g(x) F [OTAHA F =TT F o7 |

"F(x) TAAE 2" 7 2 |
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"F(x) TIFAT g AT g

92862718940.

Linear multiple regression model is amenable for many types of uses and requirement:
economists because

its coefficients are easy to understand and interpret
it is easy to calculate
its coefficients are easy to understand and interpret and it is easy to calcul:

most economic relationships can be depicted as a straight line

T Fg=T T Ffaer wr srfertert F At Suam F daqge
STET g FA
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92862718941.
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STTErTer ST Hae Ff T 2T ST F9FT ST T5dT ¢

We can use F, t and chi-squared tests
interchangeably, as they are interrelated
only when they are found suitable for the purpose at hand

when normal test fails

depending on convenience of user
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Question Number : 37 Question Id : 9286274924 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

g F, t, TAT FT-A90 FA AT FT TANT 7 T 2

FAT STl A TAATT I29T & AT 2l

STANTEHAT 0 LT & AT

Simple random sampling with replacement is the
best sampling technique in all circumstances.

best when all observations are likely to be similar in size/importance.
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worst and time wasting technique of collecting data.
92862718951.

least suitable technique when we need a lot of data.

gfaerTae gfgd ava Ag=gs Ia=44
adt o feaiaa § gyqy gia=a+9 &t g |

TG g el Ol ATATHT ATH/AgT § a9 2 |

TS TFHA FTd 0l HH2aH A G077 =77 Fed ATl &F12 2 |

HAH F]TIE, el gH Jgd T ARS! il §5q gl |

Which of the following could be a remedial measure for heteroscedasticity ?
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Options :

Use generalized least squares
92862718953.
Drop certain independent variables

Increase the sample size

Change the dependent variable

s fa=TieraT & qane & foru Msfetad § & Fia-H1 4t 3ug= gri -

ATHTI T =[AaH a3 {are

FA9T =9 F70 FT AT

BIGELUE I | R R L -

B 37 1 a=adT F=ar
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Question Number : 40 Question Id : 9286274927 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

What is the need for a test on heteroscedasticity in a cross-section dataset on monthly
household expenditure ?

The variables that influence household expenditure are different across hot
The variance of household expenditure could be different across householc

The level of household expenditure may vary over time

The sampling distribution of household expenditure may not follow normal

| qTATIR =0 & G0 F AFS! % g 9 fHus F=2rierdr =
TN il ATTITHAT 1 glat g ?

At aaTl & =T 1 T91Ed FTd a7l HTeh (9 g 3 |
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At afvam=t & =17 | F=7or § f9=ar g awdr g |

92862718958.

TTTATH R 2097 % &7 § FHATEE 9Add af 99d ¢ |

A9 g UTAT =0T FT Ia=99 q2d TATHT F29 dgl af |

Under the standard Gauss-Markov theorem, which of the following is true ?

There is no alternative set of linear estimators with smaller variance of estir

The variance-covariance matrix of the OLS estimators is an identity matrix.
The expected value of the OLS estimators is always equal to zero.

The expected means of all the OLS estimators are equal.
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TS TH-ATHT THT % Favd (T § FFAT FeA g ?

-

FH FA=20T ATAT YaF ATATHL 7 Filg Ad o GHgT Tl 2l

OLS SATA=1 =T [A=Lu-ag=E=u Arelg U+ THHAF-AT=0g 2

OLS ATHTA=I T TATIINT AT T34 T rar g |

adT OLS ATHMST & TATINT HAred FHTT gId 3 |

Which of the following is not an assumption about the stochastic error term of the class
regression model ?

The stochastic error term has zero mean.

The stochastic error in one observation is positively related to that of other

The stochastic error termis normally distributed.
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92862718968, The stochastic error term has constant variance.

e ferted o o FF-0T T FATEE TR ITAHTT &0l A5
e grerar 7g'E ?

ATg= e TF & G T T AT 2 |

T SAATH 6 ATS (=@ A1E T8 T S0 AAATHAT & Ao

Tgaag grar g |

[ ™ . -,
Hlglzegh Alc Hs sl ded A HIA gldl % |

TTg > Fte uT w1 fE=e fuw wgar 2
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Which of the following is noftrue about the coefficient of determination in a regression
model ?

The coefficient of determination cannot be more than 1.

The coefficient of determination remains in the range of '0' to "1".

The coefficient of determination indicates the percentage variation in deper
that can be explained by the explanatory variables.

In case the explanatory power of the regression model is very low, the coef
determination is negative.

affad & | FI9-97 F99 TS T 09T T 5 (S Eeor & o7 =
H #qcT qgierdr ?

eerT=oT T[T TATe (1) | TS Jel 2T |

I 1290 a1 11 0 0 M e M o = == =l
. L aL
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F=dS FL ST gl 9l g |

92862718971.

S TATTHT TIAAT Fi¥ AT q9AT agd FH 2l g, a1 e
SEOTTcH= ZIaT g |

In a regression model, what is meant by residuals’ ?
The explanatory variables which could not be included in the regression mc
The difference between estimated and expected values of the dependent v
Qutliers of the model which fall far away from other observations.

The stochastic nature of relationship between dependent and independent
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= TAIHT TIAAT F F900 | =7 ATHAT 2
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T 97T =997 =90 & SF Gad T ARG gF 95T

Which among the following is not a solution to the multicollinearity problem ?
Drop a variable

Transform the variables

Decrease the sample size
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92862718930, Pool cross-section and time series data

eferfad § & 2 g st (gHwadr) T THEAT FT FHEG T8 ?

THFALHRFIE S

=T T TG TeATadd FL 3§

gfa=el T AMHTT FH F7 2

AHFT T AT HTA AT ATHET 0 FATST FT o

Two cards are randomly drawn from a deck of 52 playing cards. The probability that bc
the cards are greater than 3 and less than 8 is

20/221
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92862718982. 852

16/32

32/52

qT9T 6 52 I1 H 7 I I ATF 1= =9 | {FHTer TT g | I AT 6 qI
HATErF U 8 | FH gl il TITEAT 2

20/221
8/52
16/52

32/52
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Variance of the difference of two random variables is
difference of their variances.
sum of their variances.
ratio of their variances.

product of their variances.

A ATS=gH =20 & AL FT =A=F207 AT
3% E=00 FT da7
IR A= T TTHA

ERENEE IR L RIG]
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EREREERUIEIRIVCET]

92862718988.

Which of the cases satisfies the rule of thumb for excellent approximation, if we want tc
Poisson distribution to approximate binomial probabilities ?

n=125and 8 =0-30
n=25and 8=0-04
n=120 and 8 = 0-05

n=40and 8 =0-06

af= g9 f3ug 99T=rar &7 Aa 7 % o vt S2d 7 TTR1 F73A7 =
a1 3 At 7 @ s Faw it Jqf® g amad grar g 2

n=1253176 =030
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n =25 #7 6 = 0-04
92862718990.

n=120 376 =005

n=40 3T 6 =006

Consider all second partials of the function t = x~ e”. We find that

tyx = txy
tyx # txy

second partials are all functions of original variables x and y

either tyx = txy or tyx * txy
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5 . . G e & .
Tt =x e & Tt fEdrT Fife F @ifors aawoe o7 F=w £ g7
E7
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AT tyy =ty TMtyx * txy TAE

Integrals which we find out through process of anti-derivative of a function f(x) is called
indefinite integral

finite integral
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infinite integral
92862718999.

definite integral

T f(x) F ATq-A==werst T =78 7 Arwierd q9RA FZATd 2
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Question Number : 51 Question Id : 9286274938 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

If the percentage increase in the quantity demanded is smaller than the percentage fall
its price, the coefficient of price elasticity of demand will be

greater than 1
equal to 1

less than 1

Zero

uﬁmﬁﬁwﬁwﬁ&mqﬁmﬁﬁﬁﬂﬂﬁwﬁr%mﬁm@ GLE:

Enl “I'H"ICI LG = ] ‘\L”II“D '(';I"II
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THTE (1) 7 Afa=®
92862719001.

THTE (1) F FH

T (1) ¥ FH

=
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If the income elasticity of demand is greater than 1, the commodity is

a necessity

a luxury good

an inferior good

a non-related good
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Question Number : 52 Question Id : 9286274939 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Tf% FHT AT AT AF HT AT 20Te (1) F AT g1, 971 g F9g g

T AAYTF A

RERACEIEGIRCESS|

T e a5

U AT Z ]

A consumer who is below the personal budget line (rather than on it)

is not spending all personal income.
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is spending all personal income.
92862719010.

may or may not be spending all personal income.

is in equilibrium.

ST SUNTTRT FTAT F97e 3T U% 731 S99 A1 Tgar g, 98

HOAT AT TR AT G Al HieAT |

FUAT AT AR T @4 F7 @I ¢ |

HIAT AT AR AT = F7 61 T@gT 21dT g, Aal A |

HqAT H Zrar g |
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The Engel curve for a Giffen good is
negatively sloped
positively sloped

vertical

horizontal

we R 92T T Uoter @k grar g

FOMMcH=H 2Tl AT

AATcH 2Tl ATl

Fed
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92862719016.

If the price-consumption curve for a commeodity is horizontal at all relevant prices for it,
demand curve for this commodity is

horizontal

positively sloped

vertical

a rectangular hyperbola

i g9T Hag HHTT 9% q5q AT FIAT-STHNT @1 AT 2T, 97 THHT T0T
FR
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AdTcHE STl ATl
92862719018.

Fed

e ATAqTHRTT I7d

The substitution effect for a fall in the price of a commodity ( ceteris paribus) is given by

movement up a given indifference curve

movement from a higher to a lower indifference curve

movement down a given indifference curve

change in income due to lower prices
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AT FTq 7344 (ceteris paribus) Tgd g0 AT 31 HIHT H HHT T TACAT
TATE fRaTaT S

& 20U AT (SEEfEET) 7% 9% Fu7 Y A% Fo g

IFA7 T Aoas 999 (SITEEAr) aF Tl A THT ZTT
20 g0 a9 (IITAAT) T 92 A= HT AT TAT ZIT

roaT T F Few g § ofiadaT 2T

MP,
mp, 'S

If the MRTS| k equals 2, then the

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
1
2
92862719027.
4
MP,
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In the situation of constant returns to scale, by increasing the quantity of labour by per
of time by 10 per cent keeping the amount of capital constant, output will

increase by 10 per cent
decrease by 10 per cent
increase by more than 10 per cent

increase by less than 10 per cent

Seareq F o e Y e °, af9 999 o aw fr g 10 gf5a
i, Freg it o w2+ uw, Seamem

10 gferg =T

10 TT 9T FHAT
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10 gfrerT & arfers Tz

92862719031.

10 TTT 9T T FH TT

The output elasticity of labour is given by

(AQ)

(AL)

(% AQ)
(% AL)

(% AL)
(% AQ)
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(% AQ)
(% AL)

(% AL)
(% AQ)

The number of processes required to reach an optimal solution is always

equal to the number of constraints

less than the number of constraints
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92862719039, more than the number of constraints

not more than the number of constraints

T AHTY (TTAH) THTLTH T Tg= 6 [0 A=eaeh e v §w=a7 739
g g

AT it 9T F JTHH
e it 9T O w9
Gre T It 7 ATHE

FTE Y w & At T

Which form of monopoly regulation is most advantageous for the consumer ?
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02862710041, | rice control

Lumpsum tax

Per unit tax

Input tax

THTTAHTE AT 7 FI9-97 T ITFIHT & (77 AT ATA9E [T g ?
Firaa A=
THAIT FiT

graTe (FFaen) &+
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Question Number : 62 Question Id : 9286274949 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A decrease in supply will increase total revenue in the market, if
supply is price elastic.
supply is price inelastic.
demand is price elastic.

demand is price inelastic.

g F FHT T AT F T Ay i g, TR

AT T A= 2r

ST T AT gl
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AT AT A= g

92862719047.

ST T A A

Given the total cost function of a firm as C = 3x” + 7x + 1 -9XY + By + Zy‘?, the marginal «
of x product will be

6x + 7 + 1-dy
1-5x + 6 + 4y
6x + 6 + 4y

1-9x+ 7 + 4y
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el F T 5 AW T 3a’:('.3=3):.2+?’:.-<;+ 1-5xy + By + 2y°, TEITH |

6x + 7 + 1-3y
1-9x + 6 + 4y
6x + 6 + 4y

1-9x + 7 + 4y

Given the demand function Q = 700 - 2P + 0-02Y where P =25 and Y = 5000, the incc
elasticity of demand will be

0-133

-0-133
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92862719055, 007

-0-67

qIT Fa9 2 : Q=700 — 2P + 0-02Y &gf P = 25 3T Y = 5000, 97 ¥

wr g
0133
- 0133
0-67

— 0-67
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3k | 2/5

Given the equation for the production isoquant 25K L™ = 5400, the marginal rate of
technical substitution using the implicit function rule will be

3/5 , 2/5

AHTET T g 25K L™ = 5400, AT Faw [a= 1 99097 7 /1%
GERIET I CE IR RCER Ll
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3L

92862719058. 5

4K
3L

2K

The inefficiency associated with monopoly is due to
underproduction of the goods
the monopoly's profits
the monopoly's loss

overproduction of the goods
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Correct Marks : 1 Wrong Marks : 0

THTTEHTE F S[eT TAATR (AT T HTL0T 2ar g

g T A I
TR Tl ATH
LENIEEARA AN

T T AA TS AT

Which of the following will result in an increase in demand for money ?

A decrease in nominal GDP

An increase in the price level

A decrease in output level
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A decrease in price level
92862719068,

ot o & reen Freor q37 &1 790 § g g 2

A1tz GDP o &=+

T Ta7 7 Iz

IUTEA Ta7 H FHl

FHT ©9< § FHT

Which of the following is an assumption in the Solow model of economic growth ?

Technological change is exogenously given.
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Saving rate is endogenous in the model.
92862719070.

Population growth rate is influenced by saving rate.

Technological change is endogenous.

Forerforfa & & F- ra F A St TR T T HeET S 2
TR TR e & et £

F9d 3T ITAATE F FTA0T g |

ST gy T T=99 T2 F T9TEAd grav g |

STRTRERT afade davadi g |
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Correct Marks : 1 Wrong Marks : 0

There is an increase in online transactions of goods and services via Internet. This wol
lead to

a downward movement along a fixed money demand curve.
an upward movement along a fixed money demand curve.
an outward shift in the money demand curve.

an inward shift in the money demand curve.

TETAE & HIAH F JeqAl F AAATSA orad | 15 Bl Tl g | 3% FHT00

U TR 3T q17 a5 97 /1= il AT THT T |

U= P9 /3T /0T a5 9% 97 T AT 9 g |
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HaT HOT =56 FT AL =l A Fe=nra SO |

92862719075.

ST HIT 796 T A il AT FEashr 2nm |

Banks create money when they
give loans
take deposits

hold excess reserves

buy bonds from the Reserve Bank of India

% IS T FTT Hid ¢ ol T T gord grar g
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T &
92862719077.

STHT TR F2d g

AT e &% & aiE @iiEd g

Deviations from natural rate of unemployment are known as
structural unemployment
involuntary unemployment
frictional unemployment

cyclical unemployment
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Question Number : 71 Question Id : 9286274958 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

I SR 3 7 &A= Fgard 2

AL ATcHE AT
A= AT

EEIRICKAE NI

Consider the consumption function C = 25 + 0-7Y. If fixed investment is 50, governmer
expenditure is 100, government revenue is 0-3Y, and net exports is 60, the equilibrium
of output will be

480

235
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92862719087. =58

300

SUHANT FeAd : C = 25 + 0-7Y 9 f@=1< FHiforw | o7 {391 50 g, TrTeh1=
=1 100, TS0 Trered 0-3Y 3fi¥ fFaer fAarta 60 g, a1a: ScaTa 7 Jqe

T g

480

335

o588

300
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Which of the following is most likely to improve the living standard of people in a count
An increase in government expenditure
An increase In per capita nominal GDP
An increase in consumer price index

An increase in per capita real GDP

Fereferfer & & Ferey Sor % T 36 St &7 & qeTe i wa qir s
29

AL =1 | gl

e =ri~F Hifssw GDP # i

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

STHTHT FIHT GF% 1% § Iy

92862719091.

ufa =1k awatas GDP 7 g

A shiftin the IS curve to the right could be an outcome of
increase in money supply.
increase in government expenditure.
decrease in government expenditure.

increase in inflation rate.

IS =% =T Mgt A &H=Ta 280 FHL0T g7 Al g
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92862719093.

AR =0T | g

I =T § FHT

=hife == 7 g9z

In a business cycle a trough occurs when

inflation rate

money supply
aggregate economic activity

unemployment rate

www.FirstRanker.com
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Question Number : 75 Question Id : 9286274962 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

U SAETT =5 1 W Oy 39 997 Arar g o AqUq AT

IEER AN

TRt 2%
T AT i
Ty ATt arataf

AL &%

The tendency of many aggregate economic variables to have a regular and predictable
pattern across sectors of an economy over business cycle is called

co-movement

periodicity
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expansion
92862719103,

recession

ST =5 o 21419 A7 THIATHT ATTGF T2 00 ATTaeqT F THT &= 3
fatoa vF qArmad T Ged it Tg0 Hf Fgl Sar g
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The monetarist theory of the business cycle regards as the main source of
economic fluctuations.

random fluctuation in productivity
fluctuations in quantity of money
unanticipated fluctuation in aggregate demand

volatile expectations

ST =7 AT Jiish Hgid FT AT F IFTA=AT FT =T &0
HAATE |

IATT=AT | AT IATL-A3 T4

H3T & G H IATE-9314
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92862719107.

FfeTTaTIor AT

In the Solow model of economic growth, we assume
marginal productivity of inputs.

increasing, increasing
constant, decreasing
constant, increasing

decreasing, decreasing
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Which of the following is an example of transfer payments by the Government ?
Government expenditure on construction of national highways

Government expenditure on salary of defence personnel
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Government expenditure on old age pensions
92862719115.

Government expenditure on health and education

TaTaiad o | 47 IR ZTET AT R T ISTZLT g 2

TYAHTE ZTET TS TTHHNT (FH107 9% =17

TR ST FLATHHAT & qae I7 307

HLARTT ST JETAEAT Te9l I =0

TEHTE g7 o1 U =T 97 =17

A difference between the long run and the short run in macroeconomics is that
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the classical dichotomy holds in the short run, but not in the long run.
92862719117.

monetary and fiscal policies affect output only in the long run.

demand can affect output and employment in the short run, whereas suppl
force in the long run.

prices and wages are sticky in the long run only.

TS TT9TE | ZHHTA AT ATTR(A § Avd? Jg ¢

FATTHET SEAT ACTHRTA F T g, T SreaTer | Agf |

T3 TH TS At SeaTad Jf Hael g § T91ad

T SFETHTA F eI T TN AT AT FT qHAl g, St
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92862719120.

According to the Mundell-Fleming model for a small open economy with flexible excha
rates, if the central bank cannot alter domestic interest rates, changes in the money su
could still influence aggregate income through changes in the

exchange rate.
price level.
level of government spending.

tax rates.
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Which of the following does notlead to a shift in the aggregate demand curve ?

The money supply

The investment function
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The price level
92862719127.

Taxes

Aerferias o & =41 F937 907 =56 T e agie ?

TRT AT A
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According to the Keynesian-cross analysis, when aggregate demand increases due to
increase in government expenditure by an amount A G and a similar amount is increas
government revenue, then equilibrium income increases by

one unit.
AG.

A G divided by the guantity one minus the marginal propensity to consume.

A G multiplied by the quantity one plus the marginal propensity to consume
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According to permanent income hypothesis, marginal propensity to consume out of
temporary income is approximately equal to

one
Zero

temporary income

permanent income
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A decrease in the nominal money supply, other things being equal, will shift the LM cur

upward and to the right.

downward and to the right.

downward andtotheleft.
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upward and to the |eft.
92862719140,
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For any given interest rate and price level, an increase in the money supply

lowers income.
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92862719142, SISES InCome.

has no effect on income.

lowers velocity.

=T 2w o T w97 37 =TS 27 97 qET A e ¥ 7T

AT FT o T <

AT FT TET 29T

=

FT AT T7 Tl TATA Al gl

O a9 il =TT =907

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

In a small open economy with perfect capital mobility, if the domestic interest rate were
rise above the world interest rate, then would drive the domestic interest rat
back to the level of the world interest rate.

capital inflow
capital outflow

the Central Bank

a decline in domestic saving
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In the IS-LM model, under the usual conditions in a closed economy, an increase in
government spending increases the interest rate and crowds out

prices.

investment.

the money supply.

taxes.
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When the RBI seeks to decrease interest rates, it will bonds, which shifts the
curve to the right.

buy; IS

buy; LM
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sell: IS
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sell: LM
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Those economists who believe that fiscal policy is more effective than monetary policy
agrue that the

responsiveness of investment to the interest rate is small.
responsiveness of investment to the interest rate is large.
IS curve is nearly horizontal.

LM curve is nearly vertical.
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A tax reduction will be more expansionary if
the marginal propensity to consume of the economy is smaller.
the marginal propensity to consume of the economy is larger.
the marginal propensity to save of the economy is larger.

investment multiplier of the economy is smaller.
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The trade-off between inflation and unemployment does not hold in the long run becau
people adjust their expectations so that

expected inflation exceeds actual inflation.
expected inflation equals actual inflation.
expected inflation is less than actual inflation.

actualinflation doss not matter.
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Question Number : 92 Question Id : 9286274979 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0
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According to the theory of Ricardian equivalence, if consumers are forward-looking, the
will perceive a tax cut, if not accompanied by reduction in government spending,

as additional disposable income and their consumption will increase.
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as a future tax burden and their consumption will remain unchanged.
92862719170,

as a transfer income and spend it entirely on consumption.

as additional disposable income but their consumption will decrease.
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Question Number : 94 Question Id : 9286274981 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

When economists refer to 'tight" monetary policy, they mean that the Reserve Bank of |
is taking measures that will

increase demand for money.
increase supply of money.
decrease demand for money.

decrease supply of money.
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If the production functionis Y = AK“L®, then marginal product of capital is

(1 — aly
K
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Question Number : 95 Question Id : 9286274982 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0
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K

The points located at the intersection of the budget line with the coordinate axes imply

the consumer does not spend all her income.
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the consumer spends all her income on only one good.
92862719182.

the consumer spends absolutely nothing.

these are points impossible to reach by the consumer.
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If two demand curves intersect, then at the point of intersection
own-price elasticity of the curves are equal.
the steeper demand curve will be more elastic.

the flatter demand curve will be more elastic.

the elasticities of the two demand curves are not comparable.
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In monopolistic competition,
firms face a perfectly elastic demand curve.
firms make normal profits in the long run.
there are barriers to entry.

all products are homogeneous.
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The expenditure function denotes expenditure as a function of
prices only.
income and prices.
utility and a given level of income.

prices and a given level of utility.
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The product exhaustion theorem is an application of which mathematical principle ?

Euler's theorem

Young's theorem

Minkowski's theorem
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Kakutani fixed-point theorem
92862719200.
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